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81,0$ (PHUJHQF\ +HOS EULQJV DLG LQ WKH IRUP RI IRRG DQG K\JLHQH SURGXFWV� DV ZHOO DV XQLTXH� � � � � � � � � � � � � � � � �
ILQDQFLDO VXSSRUW IRU WKH VDIHJXDUGLQJ RI KRXVLQJ� WR WKH QHHG\ SXSSHWHHUV DQG WKHLU IDPLOLHV ZKR KDYH� � � � � � � � � � � � � � � �
DSSHDOHG�WR�81,0$��7KH\�DUH�QRW�LQWHQGHG�WR�UHSODFH�VRFLDO�VHUYLFHV��RIILFLDO�RU�SULYDWH��
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7KH DQRQ\PLW\ RI WKH EHQHILFLDULHV LV JXDUDQWHHG� 7KH SHRSOH ZKR ZRUN ZLWKLQ 81,0$� XQGHUWDNH WR� � � � � � � � � � � � � � �
DFW LQ FRQILGHQWLDOLW\ DQG QRW WR XQGHUPLQH WKH GLJQLW\ RI WKH SHRSOH ZKR VHHN HPHUJHQF\ KHOS IURP� � � � � � � � � � � � � � � � �
81,0$��
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1R�HFRQRPLF�SDUWLFLSDWLRQ�LV�UHTXHVWHG�IURP�EHQHILFLDULHV�RI�81,0$�(PHUJHQF\�$LG��
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(DFK QDWLRQDO FHQWHU� HDFK ORFDO EUDQFK� XQGHUWDNHV WR UHVSHFW WKHVH JHQHUDO SULQFLSOHV� EXW LW RUJDQL]HV� � � � � � � � � � � � � � �
DQG DFWV DFFRUGLQJ WR WKH SHRSOH ZKR FRPSRVH LW� WKHLU VWUHQJWKV� ORFDO FXVWRPV DQG PHQWDOLWLHV� 7KH� � � � � � � � � � � � � � � �
81,0$ &RRSHUDWLRQ &RPPLVVLRQ FRRUGLQDWHV WKHLU DFWLYLWLHV LQ RUGHU WR MRLQ IRUFHV� DYRLG GXSOLFDWLRQ� � � � � � � � � � � � �
DQG�VKDUH�H[SHULHQFHV��
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7KH WHUP �81,0$ (PHUJHQF\ +HOS� PD\ QRW EH XVHG IRU DGYHUWLVLQJ RU SROLWLFDO SXUSRVHV� WKH� � � � � � � � � � � � � � �
SURPRWLRQ RI HYHQWV� FRPPHUFLDO SURGXFWV� HWF� 81,0$
V (PHUJHQF\ +HOS LV DQLPDWHG E\ DQ LGHDO RI� � � � � � � � � � � � � � �
VROLGDULW\ EHWZHHQ WKH SXSSHWHHUV RI WKH ZRUOG ZKLFK LPSOLHV WKH UHVSHFW RI DQ HWKLFV� (DFK DQWHQQD� � � � � � � � � � � � � � � �
DQG HDFK QDWLRQDO FHQWHU PXVW EH DZDUH WKDW LWV DFWLRQ GRHV QRW RQO\ LQYROYH LW� EXW WKDW DOO WKH RWKHU� � � � � � � � � � � � � � � � � � � �
DQWHQQDV��DQG�WKH�ZKROH�81,0$�$VVRFLDWLRQ��DUH�FRQFHUQHG�ZLWK�ZKDW�LW�GRHV��
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